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fIftid 8T | 91 § Ni i fgdiaeh Sarsiehdl i :

(A) 4 B) 2

C 3 (D) 6
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General Instructions :

Read the following instructions carefully and follow them :

(1)
(i1)
(iii)
(iv)
v)
(vi)
(vit)
(viit)
(ix)

(x)

This question paper contains 33 questions. All questions are compulsory.
This question paper is divided into five sections — Section A, B, C, D and E.

Section A — questions number 1 to 16 are multiple choice type questions. Each
question carries 1 mark.

Section B - questions number 17 to 21 are very short answer type questions.
Each question carries 2 marks.

Section C - questions number 22 to 28 are short answer type questions. Each
question carries 3 marks.

Section D - questions number 29 and 30 are case-based questions. Each
question carries 4 marks.

Section E - questions number 31 to 33 are long answer type questions. Each
question carries 8§ marks.

There is no overall choice given in the question paper. However, an internal
choice has been provided in few questions in all the sections except Section A.

Kindly note that there is a separate question paper for Visually Impaired
candidates.

Use of calculators is not allowed.

SECTION A

Questions no. 1 to 16 are Multiple Choice type Questions, carrying 1 mark

each.

16x1=16

Which of the following ligands can show linkage isomerism in a
coordination compound ?

(A) NHj B) SO,
(©) NOy D)  C05

On adding AgNOg3 solution to 1 mole of complex NiCly . 4NHg, two moles

of AgCl are formed. The secondary valency of Ni in the complex will be :
(A) 4 B) 2

C) 3 (D) 6

56/3/2-13 3 VWMWY P.T.O.



3.  TshHY ad SAEFT | fHerg S o § Fifeh
(A) 3T THE S = Bid 8

(B) 3eh! BHM HUH T BT &

(C)  ITh! THM AT AT Bt &

(D) 3Toh YT U YRHTY] 3THMY (HEH) B &

4., Tr=fafRaa rfafsrar w fomm HifSo

CH .
° Br,, WA W 5

T q&T 391G 2

CH, CHg

Br

A
(A) By (B)

CHzBI‘ CH3
(®) (D)

Br

5. FrafaRed A i 3 B pK, T 90T 2 7

(A)  p-ATEEHT
(B) m-TgIbHTA
(C) p-shiEiA

N AN~

D)  2,4,6-2THBIGBHIA

6. CgHs;— O - CH3 ! HI |1 AfWehd fohT I W <aT 8 :
(A) CgHs—1I+ CH3— OH
(B) CgHs;-OH + CH3-1
(C) CgHz-OH + CH3- OH

(D) CGH5 —I+ CH3 -1



Eris
3. Transition elements form alloys easily because they have :
(A)  same electronic configuration
(B) same enthalpies of atomisation
(C) same oxidation states
(D)  nearly the same atomic size
4, Consider the following reaction :

CHj

Bry, UV light

5
7

The major product obtained is :

CHj CHg
Br
A
(A) - (B)
(©) (D)
Br

5. Which one of the following compounds has the highest pK, value ?

(A)  p-Nitrophenol

(B)  m-Nitrophenol

(C) p-Cresol

(D)  2,4,6-Trinitrophenol

6. CgHs — O — CHg when treated with HI gives :
(A) CgHs-1+ CHg-OH
(B) CgHz;-OH+ CHg-1
(C) CgHs—-OH + CH3- OH
(D) CgHs-I+CHg-1
56/3/2-13 5 VWIWVNAMIVNWAMMANY P.T.O.



7. f=afaRga Sfes § 9@ w-E 9509 geRiiFa Fase & 9y il ok
A3l IcqTE SHTdT 8 2

(A) (CH3)3N
(B) (CHjy),NH
(C) CH3CH,NH,

(D) CgHsNH,

8. fr=faifiga vl 4 @ sa-an shifdeeda sifiyfsran ear 8 2
(A) C,H;NH,
B) (CoHg)NH

(C)  (CoHy)sN

(D) @—NH = CIE;

9. foru faarfim <f =t & ror iy suar g @ 2
(A) B B) C
(C) K (D) A

10. fordht fod X 1 1% fae=m ghig (Aol g9 = 342 g mol 1) & 6% faeram
% 1Y FHRER! 8 | T X2 o1 Ao’ g™ 7

(A) 342 g mol™?
(B) 57 gmol™?
(C) 114 gmol™*

(D) 342 g mol™?



n

10.

Which of the following compounds on treatment with benzene sulphonyl
choride forms product insoluble in alkali ?

(A) (CHs)3N
(B) (CH3)oNH
(C) CH3CHyNH,

(D) CgHsNH,

Which of the following amines gives carbylamine reaction ?
(A) CyHszNH,

(B) (CoHs),NH

‘Night-Blindness’ is caused by the deficiency of Vitamin :
(A) B B C

(C) K (D) A

A 1% solution of solute ‘X’ is isotonic with a 6% solution of sucrose (molar

mass = 342 g mol™1). The molar mass of solute X is :
(A) 342 gmol™?

(B) 57 gmol™

(C) 114 g mol™*

(D) 342 g mol™?

56/3/2-13 7 VWMWY P.T.O.



11.  forelt srfufsran o stfirepres 1 yrfeyes wigar g i X o737y E9H &l
7 | srffshen 1 ife 7

(A) 9IH

(B) fga

C) 3

1
(D) 2

o (el e o

12. Tr=fafea @ 9 - fodias aa 2 2

(A) T qA

(B) i HEH ¥
(C) wH{ qA

(D) S=a ¥d

U7 &7 13 @ 16 & 70, 31 %97 30 10 § — 579 vk &1 A9 (A) T
gt & FRUT (R) FRT ilha a7 71 & | 37 9971 & @g1 I 714 130 7T Figt
(A), (B), (C) & (D) 7 @ g 5T |

(A) AP (A) 3R FROT (R) ST Tt & 3 Hror (R), Afhed (A) i
&l ST Ll B |

(B) 2fihed (A) 3R SR (R) QA1 T&l &, g SR (R), AR (A)
gl el 7gT Hidl 2 |

(C) ANYHAA (A) T 8, Tg Rl (R) Terd 2 |

(D)  ANTHA (A) TeId 8, Tg BRI (R) & 2 |



11. When the initial concentration of a reactant is doubled in the reaction,
the half life period remains same. The order of reaction is :

(A) First
(B) Second
(C) Zero

1
(D) 3

12. Which of the following is a secondary cell ?
(A) Dry cell
(B) Lead storage cell
(C) Mercury cell

(D) Daniell cell

For Questions number 13 to 16, two statements are given — one labelled
as Assertion (A) and the other labelled as Reason (R). Select the correct
answer to these questions from the codes (A), (B), (C) and (D) as given

below.

(A) Both Assertion (A) and Reason (R) are true and Reason (R) is the

correct explanation of the Assertion (A).

(B) Both Assertion (A) and Reason (R) are true, but Reason (R) is not

the correct explanation of the Assertion (A).
(C) Assertion (A) is true, but Reason (R) is false.

(D)  Assertion (A) is false, but Reason (R) is true.
56/3/2-13 9 VANV P.T.O.



14.

15.

16.

17.

18.

19.

371IHIT (A)
HR (R) :

3TYHIT (A) :

PSR (R) :

3THFHIT (A) :

PSR (R) :

STIFHIT (A) :

PRI (R) :

frfcifga < a1y wohrE <l Afwfshan fafau .

: AT o % T AfyrorH 3R AfyseV I B4 & |
sy faemm d  foomfoamee sHIRIGRAN, g

o

Ooe-lda@® ARl 3R g faoe-foo
AATAThaATAT o THM &1 BT B |

am # gfg & we eafufsean 9 & gfyg &t 7

am # gfg & e vt gueel i Tea ¥ gig Bt R |
grgufirer o Sh gt H UAHIA <l FeeHieh I=Ial Bial § |
STEHIYA SR o Y] BISSISH AEEH gRI H9g B1d & |
Uil ISt shTeed STfrfshar ohidt 8 |

Hred-shaed Tfufshan o Ufef, 939 o1t AlClg & @19 @&
SHTC |

Qs @

(%) HyN-OH
(@) Bryvd

Tt TEmEeh AMGRATSTT i U1 Td Fgfoid shifag

(%) KMnO, —2

(@) 2MnOj + 5C,0; + 16H' —

(%) HAr

AT feores 1 aitTiyg hIfST | 98 o et 9 T g

qafed g ?

AT

(@) Ut 3 wHier fusor g form TR 1 foerem guitan Siar 8 2 SR

Qe

56/3/2-13
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2x1=2
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14.

15.

16.

17.

18.

19.

Assertion (A) : ApixH and A,;,V are zero for non-ideal solutions.

Reason (R):  Solute-solvent interactions are not same as pure
solute-solute and pure solvent-solvent interactions in
non-ideal solutions.

Assertion (A) : Rate of reaction increases with increase in temperature.

Reason (R): Number of effective collisions increase with increase in
temperature.

Assertion (A) : The boiling point of ethanol is higher than that of
dimethyl ether.

Reason (R): Dimethyl ether molecules are associated through
hydrogen bonding.

Assertion (A) : Aniline undergoes Friedel-Crafts reaction.
Reason (R):  Aniline forms salt with AlClg, the Lewis acid in
Friedel-Crafts reaction.

SECTION B
Write the reactions of glucose with : 2x1=2
(a) HyN-OH
(b)  Brg water
Complete and balance the following chemical equations : 2x1=2

(@) KMnO, — P2t

(b)  2MnOj + 5C,0% + 16H" —

(a)  Define molal depression constant. How is it related to enthalpy of
fusion ? 2
OR

(b)  What type of deviation is shown by ethanol and acetone mixture ?
Give reason. What type of azeotropic mixture is formed by that
deviation ? 2

56/3/2-13 11 VAWMV P.T.O.



(%) T=fdigd T § d HE-AT gaeH A Syl AR | diear 4

TR T SR =1 2
g
CHz - CH-CHg 3 CHz-C~Br
Br CH3

(@) FARES *1 fgga U Asaciiaiadd FARSS i gol § %A 39
BT ® 2 1+41=2

21. (&) Torelt rfuifshan ®, Afq SIfvrepres X 1 @Tgar @ AT K < ATt &, dl
ATHTSRAT ST |ATSH T[T & STaT & | ATTRAT hT hife =T 7 2

(@) U ufifeafa sarse S 18 fgenfoas sifufsrn nfdewra: gem =ife 6t
rTufsham Bt & | UEt ATTSRAT b1 Ueh IR ST | 1+1=2

Qs 1

99. Trffad stfifEsi § A, B 3 C i sraTd AR ; 2%23

LiAlH,  HNO
(%)  CHgCH,Cl —SCN 5 A LB e C

NO,

NaNO, + HCl C:H-OH
(@) @ Fe/HCI o i a 9+ > B 65 > O
273 K

23. 31U fafaRed = fora JR arag w2 (+12 @) 3x1=3

~

JISIgeh 3TFd 8 S {cSalss

WA ¥ NI
) UHRIEHN 8 desligeh 37
(|F) ST 8 1-%HaueHd




21.

22.

23.

56/3/2-13 13 VAWMV P.T.O.

(a) Which halogen compound in the following pair will react faster in
Sn1 reaction and why ?

g
CHg - CIIH -CHg or CHj- (IJ —Br
Br CH3

(b) Why is the dipole moment of chlorobenzene lower than that of

cyclohexyl chloride ? 1+1=2

(a) In a reaction, if the concentration of reactant ‘X’ is tripled, the rate
of reaction becomes twenty-seven times. What is the order of the
reaction ?

(b)  State a condition under which a bimolecular reaction is kinetically

a first-order reaction. Give an example of such a reaction. 1+1=2
SECTION C
Give the structures of A, B and C in the following reactions : 2x1 5 =3
LiAIH HNO
(@)  CHgCHy,Cl —SN5 A B —2s
0°C
NO,
NaNO, + HCI CeH-OH
(b) @ Fe/HCl > A 2 >P —0 O > C
273 K
How will you bring about the following conversions ? (any three) 3xI1=3

(a) Benzoic acid to Benzaldehyde
(b) Ethanal to Propanone
(c) Acetophenone to Benzoic acid

(d) Bromobenzene to 1-Phenylethanol



24. (%) T=afafaa srfufsranett d@ aftifera afteror fafaw .
1) UEREHT Affshan

(i) ohlod 3rfufsran
(@) $HIA & SHAT F 2,4,6-RIHGHIA o4 § Ik AWhHS b1 M
ferfeT | 2+41=3

25. U UUHW WHife I AR 1 25% 0T B4 § 40 e @ & | 971 feores o

a9 aftesfera Shife | fevaa Twr § I8 ifufseen 809 ot gt 2 3
[feam 7= 2 : log 2 = 0-30, log 3 = 0-48, log 4 = 0-60, log 5 = 0-69]

26. (%) 2SHELA % TA-NTHA H (£)-YA-2-ATA o4 H fohd ThR i
TRt SfcReema (Sy1 39T Sy2) Bl 8 2 SR dfr |

(@) 1 BIa1 @ 6 FARIS-e 3R AU FANSS i b 321 § AISIH 91g
o {1 ¥R foRam ST B 2 2+1=3

27.  0-2 M KC] faera bl areteral 248 x 102 S em™ L 2 | 35k HieR STelshdl 3
TRSH 91 (o) 9fteRfora SHifsT | 3
ﬁ?ZITTR?IT%:

75;@ =735 S em? mol ™!

2  =1765S em?mol
Cl

28. 200 g 91 § forelt Sqamsysiicl foaoi™@ & 5 g ol et foerm s9RT T |
300 K W $h1 9% g6 31-84 mm Hg 7 | foei &1 HieR geamm ufiehferd

i | 3

(300 K W 3¢ A <1 9T g1« = 32 mm Hg)




24.

25.

26.

27.

28.

(a)  Write the reactions involved in the following :
(i) Reimer-Tiemann reaction

(11) Kolbe’s reaction

(b) Name the reagent used in the bromination of phenol to form
2,4,6-Tribromophenol. 2+1=3

A first-order reaction is 25% complete in 40 minutes. Calculate the value
of rate constant. In what time will the reaction be 80% complete ? 3

[Given : log 2 = 0-30, log 3 = 0-48, log 4 = 0-60, log 5 = 0-:69]

(a)  What type of nucleophilic substitution (Sy1 or Sn2) occurs in the

hydrolysis of 2-Bromobutane to form (+)-Butan-2-ol ? Give reason.

(b) What happens when chlorobenzene and methyl chloride are

treated with sodium metal in dry ether ? 2+1=3

The conductivity of 0-2 M solution of KCl is 2-48 x 102 S ecm™. Calculate
its molar conductivity and degree of dissociation (« ). 3

Given :

20 . =735S em” mol ™

2°  =765S cem? mol !
Cl™
A solution is prepared by dissolving 5 g of a non-volatile solute in 200 g of
water. It has a vapour pressure of 31:84 mm Hg at 300 K. Calculate the

molar mass of the solute. 3

(Vapour pressure of pure water at 300 K = 32 mm Hg)

56/3/2-13 15 VAWMV P.T.O.



Qs Y

FEloTRga Fo7 G 3TETRT 97 & | F9 &1 eI79d% 90 3K 13T T8 Fo7) & I oy |

29. UM W97 § Haieeh T SH At 5 d A9 7 | TH @ g e o -t
AT & TgIh 1A § Sl NIH H UTEE Y N IS BId & | g8 UHH 3T
JMETeh UHHT 370 head & | Sact e &9 o, UiHr o7 Iwagl wehid
T & Fifh o ITFA T GRRI GHT o &1 SAHIHAT hLd 3 |
3TfUgeh Th{d o TUR T AIEHT 1 31 ot | Ffiehel fohan ST @ : WigR 3R
MIARERR TEH | TIEHT hl FEAT T 3AThId 1 AT IR 1o Tl o T
ST |ehdl § @ TR, fgeieeh, Jeiiaeh Td Iqsh TeHTU | Toieh TR g T i
qoT § 3fes Afea giar 8 | pH AYar amd # uiEdd & WiEHT < fgefiaes =
T FLEATE T8 Bl ST & 3R d 79 T i | 9w T8l Wd | 39 WA

1 faeheiehtor ad 3 |

frfafea wei & @ G
(%)  ATawEsh THAT 7t 41 B @ 2 1
(@) UHA 1At o foaet Tfes &9 & o AR B 2 1
(M) () WER AT o MiARFRR TEH F1 TH-TH 30T T |
(i) WIEHT % Teshatehl hl fohT YRR <R oY SIS @Al & 2 2x1=2
aterat

(M) (1) 98 SF-E GeEHcTs fafimear 8 S STt IehU o AfTereIur
a8 2

(i) IFAAEEE 3R fFAACIES H FI1 TLEHCHS SR BAT 8 2 2x1=2
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SECTION D

The following questions are case-based questions. Read the case carefully and

answer the questions that follow.

29. Proteins are the most abundant biomolecules of the living system.
Proteins are the polymers of about twenty different a-amino acids which
are linked by peptide bonds. Ten amino acids are called essential amino
acids. In zwitter ionic form, amino acids show amphoteric behaviour as

they react both with acids and bases.

On the basis of their molecular shape, proteins are classified into two
types : Fibrous and Globular proteins. Structure and shape of proteins can
be studied at four different levels i.e., primary, secondary, tertiary and
quaternary, each level being more complex than the previous one. The
secondary or tertiary structure of proteins get disturbed on change of pH
or temperature and they are not able to perform their functions. This is

called denaturation of proteins.

Answer the following questions :
(a) What are essential amino acids ? 1
(b) What is meant by zwitter ionic form of amino acids ? 1

(c) (1) Give one example each for Fibrous protein and Globular

protein.

(ii)) What type of linkages hold monomers of proteins together ? 2x71=2

OR
(c) (1) What is the structural feature which characterises a reducing

sugar ?

(11) What is the structural difference between nucleoside and

nucleotide ? 2x1=2

56/3/2-13 17 VAWMV P.T.O.



30. HHAU Tl h TGHE o TeH H (n— 1)d soaeAl hi WG $1 a i ol o
fafimse 1o wem St 8 | oFa: diad! STTaiehtul STl o ANNTh TshHYI
a1 TR T SR IR 0 S & a1 T TR s 1 T gf a1
STt | HehHUT YTqU Sgd € TG, SE ATaEeH, ATSgeH a1 gl |
ATATRAT T & | KMnO, 3T KyCryO 3 AHI 38T 7 |

TSR GshHUT deal hl &l ATVRT A-IHTIS d9T Tdediag 3Tad TRU & fscileh
HI AT B 7 | AOHIISl H 4fHeTh o SoigeHl oh YU IR TWE
(imperfect shielding effect) % RO TTHTY SHATH H ﬂfg\ % |1 YLATY] Y

H itk B9 BIaT @ & R0 %= 81 & |

i sl o S e
() THHYT GTgE qAT IToh AN 3T IIEh hi Wifd FIT B Hid 3 ? 1
(@) TFIATIEl § TTHTY] AT (size) T STTHTH T AT SR g ? 1

(TT) FIATEE e I URWING T | 98 g wsRau goft e T
TehHuT roft <t weT] Bt o fohe yehm v whear B 2 2

AT

(1) e me §, Cr?t s1gat Feot § & #H-61 YO S0 & AR F 2 2
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The involvement of (n — 1)d electrons in the behaviour of transition
elements impart certain distinct characteristics to these elements. Thus,
in addition to variable oxidation states, they exhibit paramagnetic
behaviour, catalytic properties and tendency for the formation of coloured

ions. The transition metals react with a number of non-metals like

oxygen, nitrogen and halogens. KMnO4 and KyCryO-; are common

examples.

The two series of inner transition elements, lanthanoids and actinoids,
constitute the f-block of the periodic table. In the lanthanoids, there is
regular decrease in atomic size with increase in atomic number due to the

imperfect shielding effect of 4f-orbital electrons which causes contraction.

Answer the following questions :

(a) Why do transition metals and their compounds act as good

catalysts ?
(b) What is the cause of contraction in the atomic size of lanthanoids ?

(¢) Define lanthanoid contraction. How does it affect the atomic radii of

the third transition series and the second transition series ?

OR

(c) In aqueous media, which is a stronger reducing agent —

Cr?* or Fe® and why ?



Qs &

31. fm=fafga & 9 fvdl i ywat & 3o fafgu 5x1=5

(%) ®pel [Co(Hy0)(CN)(en)y)?* w1 TUPAC 7 foifiam |

(@) o Igshechd dpa o g fid TR & ToheqR fofire gl a1g SR
T S8 B, SATHA qHTEFad F=1 999 &l gl ?

(M) f=faRad e smAl w1 h Theed & faured S (A,) % F'd ¢
Y T SEd il :
[Co(NH3)gl>*, [CoFgl®~, [Co(CN)gl%"

(9F) wAShal Y fHga % MIR W TPpa [Ni(CO)y ] o FhUl TH
TreTeh STIER i Tafay |
[Ni T qTHTY] SHHTeh = 28]

() [CoFgl®™ 3T [Co(Ce0y)3]° Tl H & HIH-AT HpeA :
i) Afes Torf g ?

(i) 3 TR GHd & ?

(=) Iy foe o fgeq forme & oM 31w B 2

(B) oTCHAHE &F § d° 1 g h oIty 3R e, & wal # fflay
Sl
(i) A,>P, X (i) A, <P



SECTION E

31. Attempt any five of the following : 5x1=5

(a) Write the IUPAC name of the complex :
[Co(Hy0)(CN)(en)g]**
(b) Why is geometrical isomerism not possible in tetrahedral complexes

having two different types of unidentate ligands coordinated with
the central metal ion ?

(c) Arrange the following complex ions in increasing order of their
crystal field splitting energy (A,) :
[Co(NHj)gl>*, [CoFg]>", [Co(CN)gl>
(d) Write the hybridization and magnetic character of the complex
[Ni(CO)4] on the basis of valence bond theory.
[Atomic No. : Ni = 28]

(e) Out of [CoFgl>™ and [Co(C50,)3]>~, which one complex is :
(1) more stable ?

(i1) the high spin complex ?

(f)  What is the difference between an ambidentate ligand and
bidentate ligand ?

(g)  Write the electronic configuration of d° in terms of tog and ey in an
octahedral field when :
(1) A,>P, and (@Gi) A <P
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32. (&) () 25°C W fAfaRaa ot o1 fa.da1. s (emf) Il Fifve

7n (s) | Zn* (0-001M) | | Cd®* (0.1 M) | Cd (s)

TR E° =-076V, E°
feem T @ 7n2t/7Zn Cd?

*/Cd

=—040V [log 10 = 1]

(i) HUE % faga-sruee w1 fgde 9w sase | NaCl @ S foerm

i pH Tr8 TR & wvifaa Bt STa gHehT foga-oTqered fopam i

27?

AT

3+2=5

(@) () =g o sifafsean & e A,G° 3R log K, UitEh{aa It

Fe (s) + Ag' (aq) = Fe2+(aq) + Ag (s)
g E =—044V, E®
feem 8 Fe2t/Fe * T Ag

1F = 96500 C mol !

*/Ag

= +0-80V

(i) wafes MR fodiue SeiEl & 7Uem S99 Odl & i a o

fofgT |

o N

(iii) 17 HyO o Oy § ATaiehtul & foTu
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32. (a)

(b)

56/3/2-13

(1)

(i)

(1)

(i)

(iii)

Calculate emf of the following cell at 25°C :

7n (s) | Zn* 0-001M) | | Cd®* (0.1 M) | Cd (s)

Given : E° =-076 V, E°

Zn2*/Zn caZtcd 040V llog 10 =1l

State Faraday’s second law of electrolysis. How will the pH of

aqueous NaCl solution be affected when it is electrolysed ? 3+2=5

OR

Calculate the A,G° and log K. for the following cell reaction :

Fe (s) + Ag' (aq) = Fe2+(aq) + Ag (s)

Given : E° =044V, Ezg =+080V,

Fez"‘/ Fe
1 F = 96500 C mol !

t/Ag

Write any two advantages of the fuel cells over primary and

secondary batteries ?

How many Faradays are required for the oxidation of 1 mole
of HzO to 02 ? 3+1+1=5
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33. (&) () T=fciRga afufspanett & g&a 3crg fafaw

CHyCHg  a) KMnO, , KOH
W @ DET

@ (_)—CHO +CHy - C - CHy g NaUHL

||
O
Brs / FeBr
(3) @ 4 By ?

(i) F=fIRgd s Jeat § favg ®E & ot Ta TEEes adeqo
IS

o & o« &

(2)  U=AA IR Y=eA-3-31H 34+9=5

COCHj COCH,CHj

AT

(@) () F=faRaa % foe wrer T .
(1) otfieaiargs § shad T — NH, T8 HihreteE foed §

Tfthfera grar & |
(2) UHeH 6 ga § UHidfeegse HCN ane & dfd e1fees
Frf¥fsparshict giar 2 |



(b)

56/3/2-13

(i)

(1)

Write the major product(s) in the following reactions :

D @r CHyCHg a) KMnOy,, KOH\ )
p)Ht

@ {_)—CHO + CH; - C - CHy dd NaOHL

||
O
Brs / FeBr
(3) @ 4 2y ?

Give simple chemical tests to distinguish between the

following pairs of compounds :

COCH,4 COCH,CH,

(1) ©/ ang ©/

(2) Pentanal and Pentan-3-one 3+2=5

OR

Give reasons for the following :

(1)  In semicarbazide, only one — NHy group is involved in
the formation of semicarbazone.

(2)  Acetaldehyde is more reactive than acetone towards
addition of HCN.
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i) (1) T=fAREd 1 3T 3Tl |Wed o Hed BU hA H Faiead
EI IS
CH3COOH, O3N - CH, — COOH, HCOOH

2) Tefafaa stfufran & fow siftesdes o1 am fafew -

CHy—CH=CH-CHy—CN —",
CHj — CH = CH — CH, — CHO

(iii) BA-BlcTe-Afereshl rfifsran & affrfera srfifsran fafigu | 2+42+1=5



(ii)) (1)  Arrange the following in decreasing order of their acidic

strength :
CH3COOH, OyN - CHy - COOH, HCOOH

(2) Name the reagent in the following reaction :

CHy;—CH=CH-CHy—CN — ",
CH; — CH = CH — CH, — CHO

(iii) Write the reaction involved in Hell-Volhard-Zelinsky reaction.

242+1=5



